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FOREWORD B -

To implement an educational ‘approach smcustully, on¢ must mdtch the phlloso-
phy of evaluation with that of instruction. This is particularly true when individual-
ization is the key celement in the educational approadl Yet, as important as it is to
achieve this match, the task is by no means simple for the teacher. In fact, without

specific resource materials to help him, he is apt to find the task ovcrwlwlmmg For

this reason, ISCS has developed a set of individualized evaluation materials as part of
sts.Individuatized Teacher Preparation (ITP) program. These materials are designed
to assist teachers in their transition to individualized instruction and to' help them
tailor their assessment of students’ progress to the needs of all their students.

) ) . : [}

The two modules concerned with waluatnon Indwuluall"mg Objective Iestmé and

Fvaluating and Reporting Progress, canjbe used by small groups of teachers in in-
service settings or by individual teachefs in a localschool environmént. Hopefully,
they will.do more than give cach teacher an overview of individualized evaluation,
These ITP modules suggest key strategies for‘achiceving both subjective and objective
cvaluatnon of .cach student’s progress./ And to make it casier for teachers to put such
strategies into practice, 1SCS has produced the associated booklets entitled Perform-
ance Objectives, Performance Assessiment’ Resources, and Performance Checks. Using
these materials, the teacher can objectively assess the student’s mastery of the proc-
esses, skills, and subject mrattgr of the ISCS program. And the teacher can obtain,
at”the moment when they are needed, specific suggestions for rcmcdymg the stu-
dent’s identified deficiencies. :

If you are an ISCS teacher, selective use of these materials will guide you in devel-

oping an individualized evaluation program best suited to your own settings and thus -

further cnhun‘u: the individualized character of your ISCS program,
o o R
S The Co-Direcfors .
Intermediate Science Curricutumn Study
. Rm 415, W.H. Johnston Building
& 415 North Monroe Street
Tallahassee, IFlorida 32301

-
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WYY

‘used ‘the systenss approach, mathematics, and a model.
cach of these to scientific problems. -

were not successful in explaining the patterns they saw. State two reasons why

03-Exc 6-1-1A
Mcndcl was suctessful in umlmshln(lnm patterns of inheritance. ’

WYY
03-Exc 6-1:2A

Several people unsuccessfully investigated inheritance before Mendel did. Mendel
Explain the importance of
.

*

«

A certain spcucs of insect has nine features that show vanatlon They are eye color,
eye shape, body color, body shape, length of antenna, size of wing, shape of wing, 03-Core-1A
pattern of veins in the wing, and leagth of bristles. According to the two-bit model,
what is the total number of bits lhdl this 1nxcu received for all oI these nine features?
. A type of fly receives information for eye color, eye shape, wing shape, body color, , WY_Y .
and body.shape. The possible variations of these features are shown below. 03-Core-2A
r.————_—_— —————— - —— e b s - :‘ )
- KEY.
Fl ATUR[ BIT. VARIA1 I()N BIT | VARIATION
-‘Eye color R . red - - T brown
Eye shape $ round S Alit shaped |« -
Wing shape L - long - B short
Body color B brown | b yellow
Bady shape I fat . ' o skinny .
Hd et ——--"-.";'": ST e e v | I
Use the two-bit model and the key above to determine”the appearance of the fly that
inherited the bits shown in the table below. List the feature number, and after.the
number state the “ariation of the feature that the fly will show. (Example:- 1. red)
- FEA I URI K l A l URl BIT 1| BIT?2 | ' )
NUM BE R .
I .eye color R R N .
R eye shape s S v
' 3 wing shape 1 L
.. 4 | body color B b
body shape | r ,
Suppose you did «dn experiment with frujt flies and found that your results did not S - WYY
agree with what the two-bit model predicts. 03-Core-3A
I. What should you do to establish the value-of your rcsullx’ '
2. How can your results affect the model? RN _ r
Several people investigated patterns ol inheritance before Mendel did.- However, lhc WYY
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WYY
© 03-Exc 6-2-1A

In swcct peas, thc bit for purplc flowers (P) is dominant over the bit for white -

flowers. (). Thebit for wrinkled seeds (W) is dominant over the bit for smooth seeds -
(w),

Suppesc you had a sweet pea that was pure strain for purple flowers (PP) and
for smoath sceds (ww).
white flowers (pp) and wrinkled seegls (WW).

Predict-the appearance of the first-
generation offspring of this cross. ” : '

wyy

N OiExc 6-2-éA

(ww).

hJ

You may refer to Excursion 6-2 to help you answer this check. In sweet peas, the
bit for purple tlowers {P) is dominant over the bit for-white flowers (p). The bit
for wrinkled seeds (W) is dominant ever the bit for smooth seeds (w). Suppose you

You crossed this plant with one that was pure strain for

had a sweet pea that was pure strain for. purplc flowers (PP) and for smooth seeds™

You crossed that plant with one that was pure strain for white flowers (pp)
and for wrinkled sceds (WW), Predict the ratio of the feature variations you would
tmd in the second-generation offspring of this cross. :

4

wYY
03-Exc 7-1-1A

When a white cow (WW) and a red bull (RR)-are mated, the offspring are neither red
nor white but a light red color catled roan (RW). The genetic bits for color do not
seem to mask each other completely.. Copy the charts below. Then predict the
appearance i)l"ﬂﬁ _o_l't‘sp;ing of the two separate crosses. '

Chart 1. Roan Roan f . .

o l 1 ] ~

? ? ? ?

) ' Red Roan

Chart 2. R

. - —. : { A

[ - 1 ] 1

? /_? ? ’ .

[4
' o,
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A large tamnly was studied to find the pattern of inheritance of blue eyes and brown . . WYY’
eyes. Brown eyes were found to be dominant over blu¢ eyes. ‘ ~ 02-Core-22A
. Ask your teacher for a copy ot the chart below or paper to trace it. Statc a AT
possible pair of bits of information that cach person shown in the chart could have by _ _
_writing the bit symbols in the small circles under cach lar;,e symbol on your chart. ' .

Use B to reprisent the bit for brown eyes and b to represent the bit for blue eyes.

. . ) . "
) . N . . a i
. : . . , 4 .

co|oo.  ©oo|oco .

_ — , o KEY
Male with

Female witlh'
00 00 00 ,o'o 000000 00, 00
f | brown eyes

brown eyes -
Mz_nle with |
' L |blieeyes. .| -
_ ' ) Places for

OO OO OO OO ' OO OO 00 bit symbols

Ferﬁéle with!
blue eyes

HOe

You have lc ;-pffa,x} that the bit for tasting PTC is dominant over the bit for not tasting , WYY
‘Suppose ‘adgian can taste PTC and his wife umnot Nothing is known apout their 02-Core-23A
parults abjlity. to taste PTC, ' -
l Will their first ulnld be a taster?

2. Explain your answer.

Construct an inheritance chart £Qr the inheritance of the ability to taste PTC for the - . Wyy
families described below. Use s'quurc'und circles and shading and nonshading.  Near 02-Core-24A
cach square or circle, write the person’s name and a possible pair of bxts which that '
person may have."Use T for taster and t for nontaster. . . .
Gragdtather James Jacksonisa taster: but Grandmother Rose Jacksen is amontaster. . ' : .
‘! Their dnldrcn George and Betty., are tasters. . :
Grandfather Andy Hill is a nontaster, but Grandmothet Sue Hill i is a taxtcr Two .
_of their children, Bob-and Susan, gre tasters. Their other child, Lois, is a nontaster. o T
Betty Jackson marrics Bob Hlll Their boy, Hefry: is a taster, but their othcr child, .
“lIsabel, is a nontaster.

'S ’ »




\TVYY . The bit for black hair {B) is dominant over the bit for whlte hair (b) in gumea pigs.
- 02-Exc 4-1-1A . Suppose you crossed a black-hdlred guinea plg (Bb) W1th a white-haired guinea png
' (bb). :
_ oy 1. Use a chart like that shown below té determme the poss1ble combmatlons
® _ . .of bits that the offspring could have. .

-2 What is the ratio of black-haired offspring to _white_-haired offspring?

3
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Suppose that a suentlst’ crossed two plants and found that the oftspnng were not

. - WYY .
explained by the two-bit “nrodél. He repeated the cross several times and got the . 02-Core-12A
-'same results. -Select the answer that best describes what he should do next. R

a. Ignore the results of his experlment because they do not agree wtth the'
two-bit model. b : T
b. Devise a new model that explains only the new results. - .
c. Publish a paper givirlg his data and stating that the two-bjt model is wrong o
.~ and must be thrown out. ' y
~ d. Try to change the two- blt model so that it explalns both his new data and
~the old data. . '
e. Change his data to agree )/(th the two-bit model. B
- L : : - 7 ~
. Susan wanted to find out jf p tall 'pea plant she had was pure strain. She knew that . © WYY

~ the bit for taliness would mpsk the bit for dwarfness in peas. She crossed her un:
known plant with one that she knew ‘was pure strain for tallness.  All the first-
generation offspring of this uross were tall. :
l Was the unknown[plant pure straln for tallness”
2. Explain your answer.

!
.

02CoTSY

Roland ,wants to determine if a tall wheat plant is pure strain for I&ight: He knows ' wyy
that the bit for tallness will mask the bit for dwarfness. ‘He test-crosses the unknown 02-Core-14A .
tall wheat plant with a pure-strain dwarf wheat plant. Half of the first-generation ' '
offspring of this cross are tall and half are dwarf. :

1. Is the unknown tall wheat plant pure strain for heiglt?

2. Explain_your answer. You may wish to include a diagrain in your expla-

nation. : L e - @
Matt Wauts to find out if a tall bean plant is pure strain for taliness. He knows that the - WYY

bit, tor,t.._;]&ness masks the bit for dwarfness in beans. . He testcrosses the unknown tall

_'plant with a pure-strain dwarf bean plant. The hrst-generatlon offspring of this cross
are all tall. :
" I.1s the unknown tall bean plant pure strain for tallness?

02-Core-15A

3

- 2. Explain your answer. _ : :

i A pure-strain plant with purple flowers is crossed with a plant that is bure strain for WYY
white flowers. All the first-generation offspring of this crbss have purple flowers. 02-Core-16A
Explain why there are no white-flowering plants among the first-generation offspring.

What does the term recessive bit mean as it is used in the two-bit model?? : WYY

' o : ' “ 02-Cor (o -17A .
- What does the term dominant bit mean as it is used in the two-bit model? WYY
e ' ” 02-Core-18A

/

7
.fL

1o




WYY,

' pZ-Core-‘l'QA .

CAN
‘e

.

N 'c. '-"

'(

3

{\,x- .

FEAJURB;;_-VARIAT}QN SYMBOL POR THE
S BITOF INFORMATION
1. Spotted seeds

| 2.7Réd fowers M. {
.| 3. Wrinkled p'_oris_ "N . / -
|4 Ycllow.hai'r.' . o
- . Q . . ' - Q\ o.'

B S

erte the numbers of the "

s
N 2

wyy

02-Core-20A

AW ko —

. Blue. eyu (recessive)

. Purple flowers (dominant)
. Yellow body (dontinant)

. Wrinkled sceds (_rc_ce&«;ivc ).

4

*

L3

4

WYy
02-Core-21A

% THE BILL SCOTT-FAMILY

N
L

A

-

1" In the BHt Scott farnily whreh vanatlon - blue eyes, or brown eyes — is

- dogginant?

-

2. Which variation is reetsslw

. 3. State the rcaqon for your angwers to questrons l and 2.

s »
& Sally Scott . Bill Scott
g . blue eyes brown eyes
[N %' ’ ¢
"

, ° T *
Fred Susan Linda .| Peter
brown eyes " brown eyes brown eyes . brown eye

. Sally s parents .md grandparcnts all had biue eyc«s Brll $ paronts and grandparents
all had brown cyes.

v

.

v v

e

Sup‘e you- have the report of 4 study of the feature vandtnons shown belew whlch A B
‘uses the symbols® ﬂl the" nbhtvh‘md column of the table.-
_“featurp varfution§ lsted below. . After each number state whether the teature .U"' "
vanatlon is dommdnt or rel,esswe - .

)

Write the numers of- thu feature variations hsted below Atter caeh number wrlte .
“a symbol to reprwent cachi.of the future vanatlons ’

\"'
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S, \d Thu oﬁsprmz, 1 show thc s‘nnc ﬁcaturc as their male parent.

.“

. yellow eyes. |

o

B r}‘ N . ‘ ' . ' ~ * ‘ (Y
" ) -‘4.' - . . - . . ‘ . l -
Jamcs has tstuond—gcneratlon oftsprm;, Qt A Ccross betwcen two’ purc straing of ! WYY

% fruit flies. Me has lost his records of the appearances of the.original parents and the
tmt«gencr' ion offspring. ‘Suppose that he has 38 red-cyed flies and 12 orange- cycd
ﬂlés in tl(e second-generation ()Hsprmgl ¢
e 1 Sfate the eye color-of cach of the originalfpure-Strain p.lrmts
2. Statc the eye color of tl}c.hrst-z,cncratlon oftspring of this cross.

.

. 02Core-1A

PUPTI

PR

Al 3

*

Jennifer crosses two pure-strain irult flics, -one w1th Ted eyps and the other with
“She hn(ls that all the hrst-;,cmmtlon oftspring of this cross have red
eyes. - : : . :

. The hrst—g,ent,rcltlon ollsprmz, are then LTOSSL‘(] with CdLh qther. Predict the ratio

of rcd«rycd fruit tlies and yellow-cyegl fruit tlies that will result from this suond Cross. -

WYY

02-Corg:2A"

(hoose thc statement: below that best describes thc pattcrn by wluth Iuturcs are-

pussud trom parents to offspring. - . -
-~ The ottspnnz, show the same features as their tenmlc parent. '

b The features of -the offspring are different trom those of both of their
paruﬂx ' ‘

parents. - . )

[}
<

“¢: The oHspnnz, gcmrally xhow some’ thurm in common with cac,h ot their

Coa Y WYY
- 02-Core-3A

T

AW - : T

e . .

. N : : - s .. ) o
. What 153;11:11110 of the science wlnch deals with the pa(c-rns of inheritance?

R . “ -
A

WYY

‘The Lu,uru. below show a possible way to éxplain a cross between browh beans and

w()'htc beans, using the one-bit modc] of mhentanu What re .the assumplnonx of

. the one-bit modet of 1I1hcntanw’

. - . . ",. _..

-
I\

. Pdre:strain: Pure-strajin |- Pure-strain ,  Purestrain
parent #1 parent /2 ., | parent " parent #2 .
Brown _ ~ White | :

White bit
.of information

Brown bit

First-generation offspring of information

S P ¢ hrst generatlon offspnng
] . -
\_ -
Brown \ . .
3 .
) \ - »
- “L .
< o
| A
. . [

- WYY
02-Core-5A

& 02CoreaA .




Why is the one-bit model of mhentance not a satlsfaetory model of mherltance for
. most featuree" T o , N

. . <

N

= =

WYY, e
.(F-Cofe-GA- v
SWYY
02 Core- 7A .

There are two models for light — tl;e wave model and the etﬁ model. Select the
, most lmportant reason below for yecepting one model rather than the otffer,
a. One model was developed more, recently. ' g

. b. One model agrees more closely with the experimental eviddnee.
.¢. Ome model involves less math and. is easier to understynd. '
. A famous suehtls“t developcd one of the models. {

g e Someone toI(L you thyt one modd l\)’lg]l( and th7 other is wrong.
. N r M ‘. P .
wyy State the assur_npt.-ions.of th'e tw‘o~bi't m()del of iglflcritqncc. .
. 02-Core-8A ' o e e T ) P
! va : ’ . - b - . : ¢
© . . \ . . ’. . . ' 13 . A )
wyy - ' The inheritance of*Hlower color in lilacs Aollows the two-bit model. Purple color’
02-Core-9A masks white color.  Suppose Xou crossed pure-stram wlhite lilacs wnLh ﬁure—stram
: ] purple lilacs. . .
) o . . 1. What will be thc &or of the ﬂowcre m the hr‘;t-generatlon ottsprmg of thls
. uoss’ eafh
ce 2."What will be thc color ot lhe ﬂowcr\ of the suondﬁenemtlon %tsprmg
. ot this cross? Include a ratio in your answer. X
. TR — et 1 ¢‘. . — . »
WYy . : J(ym used . plant that is pure strain tor thie masked (recossive) variation ofa feature
02°Core-10A - ina.test ¢ross. Why wouldu t a pl(mt that’ m pure xtr.un Iol the masking, v;mdtion be
-' : “used in thuuosq >
o Wyy L g - Henry crossed two pure straing of ‘I)LIIIIIII\? One was le strain for ycllow seedb(gg)
02-Core-1MA" mﬂ the otlier was pure strain for grccn seeds. (GG). His data are shown below:
2 B ) e L : - _ .
S - ( l NLRAT I()N PLANTS WITH PLAN'I‘S WITH 4 5 7 "
- P 1 - YLLL()W Sl H)S . GREEN SEEDS”
) . Pdrcnts " I R )
o ‘ lst-gcncruti()n _ . 0. 20 .o
- oftspring s )
‘ 2nd-generation 73 71
- offspring , .
. ¥ - | Can you explain these data, using the two-bit model of inheritanec,? -
- 2. Explain your answer. - ' BRI
* 4 > e ‘4! -
» - . ’ .

T

¥
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Suppose you crossed z\'pea 'plant that was pure strain for white flowers with one that - v WYY
was pure strain for yellow flowers. Which statement best describes the flowers of .01-Core-18A
the first-generation offspring of this cross? : S
a. Half the plants will have white: flowers, and half will have yellow flowers.
b. Either all the plants will have white ﬂowcrs or all the plants will have

@ -

" yellow flowers. ‘ : - -
¢. There will be a 3-to-1 - ratio ot plants with yellow flowers to plants with o ’
, white flowers. - % : . ‘
. d. There will be a;.3-to-1 ratio of plants with white flowsygs to plants with
' 1 yellow flowers. .
e.'All%\L plants will have’ yellow- and white-spotted flowers. | _ :
Suppose you were §o Cross xnapdra;,ons that were pure strain for yellow flowers with ‘WYY
xnapdrag,ons that were pure strain for pugple flowers. Select the statement below . 01-Core-19A ,
~ that best describes the appearamc of the secgnd-generation offspring of this cross. ' '
PO a. Half of the plants will have all purple flowers, and the other half will have -
all yellow flowers. T
~ b. All of the plants will have onc-color ﬂowus but 1 LdllllOt tell if they will
o l " be yellow or purple. .
" . = ¢ Allof the plants will have half purple flowers and half yellow flowers. . <
' i, Some plants will- have all yellow flowets, .and- the oter\s will have all
. purple flowers. There will be-a_3-to-1 ratio of thc,_uolo_rb‘ T
: ‘e, All of the flowers- will be part yeHow and part purple. o P
- - 2 — v - ‘., * n - I : S — .
Two pure, xtr‘um of -tulips were crossed.  In the sewnd—genemtlon offspring of this ~ - . =~ WYY
cross, there were 163 plants-with red flowers and 48 plants with yellow ﬂowers . 01-Care-20A.
- 1. What did the Howers of the hrst—g,ummtlon offspring Jook’ like? ..« = 7~ ' '

2. Wmd the flowers ol the p‘lanl pl‘mts‘ ook like? <

’ % v ) .
. . . — N T . . i - — - . y

- Your teacher will observe you for this theck when he can. ‘. : WYY
- g : 01-Core-21A
: X v
. . . - - hd 4
Y our teacher will ol‘.scrvc you for this check when he can. ' C ‘ . WYy
o - T - 01-Core-22A
Your teacher will observe you for this check when he can. ‘ : P wYyy
' o 01-Core-23A -
KR . ’ -
3 i . . . - A : . :
J Your teacher will observe you for this chcc%'vhcn he can.  * . Coe WYy .
S ' ’ ) "+ 01-Core-24A - -
g . N N J':‘ L} N * ...\ vy N
>t i ' T - . . = - e
. Your teacher will observe youfor this check when be can. e wYyy. . .
- : : . . : o - 01-Core-25A .
- ‘ ; ‘
{ '
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WYY

01-Exc 1-1-1A

In reporting expeffinents done to find out how characteristics are inhetited, the word

cross is often used. Define the word cross as it is used in such reports. .

81:Exc 1-4-1A _

.

l . . : s

- WYY : Below are two definitions of wzny§_inl_whiqh_'_pe‘ople' differ. Study,these definitions,

01-Exc 1-2-1A and answer the two questignsthat follow. T T,
Definition a: A person’s treasure-findling index is his ability to'find valuable objects

.. whjch have been buried. ' .
. ‘?,,‘ Definition b A student’s sprint. index is a measure of -how rapidly he can run for
' short distanceg, It is measurgd by timing how long it takes the s torun 100

meters on a cindertrack. , . .
_ 1. Which of the above is an operational definition? -

2. Explain the reason for your answer. . o~
wyy Whenever possible, an operational definition ofun:."thing‘ghould answer two questions. |
01-Exc 1-2-2A What are the questions thait it should answer? '

WYY ' (utor was crossing fruit flies durtng the Wlmcr He stored his vials on the she}f

01-Exc 1-3-1A mext to the wnwow Soriie of his crosses were very slow in hatching, and some m‘ver
I (Icvclopcd mtg) d\lults at, aII What Was thc m()xt Irkély causg of Vutors problcms’

wyy.-... Wlmt is the total number ol bits of mformatlon that all of your grcat-g,rdndpdrents

had for the feature cye color?

°

WYY
01-Exc 1-4-2A

Peter has blue dyes. His great-grandfather Lucas had blue eyes. his great=grandfather
Josepivhad hazel eyces, and his great-grandmother Mary had blue cyes.
I. Can you determine which of his three great-grandparents Lontnhuted the
. bits for Peter’s blue ¢yes? ‘
2. Explain your answer. o ‘ ) -

WYy
01-Exc 2-1-1A

Mary counted & boys and 17:girls in her class.
hoys in her class? Express the ratio to the nearest tenth;or | dcumal p|ch

i,

2

™ A " - -

What is the rough ratio of glrls to

wYyy . ; Bill calculated the rough ratios sl)ki' below. Convert these to rounded-off ratios.
01-Exc 2-1-2A 120 o | R e 1o Tounaed _
2 22,2910l B e
. 1 . . . . . . -
. 3. 83 to |l . S L, . . o - P ) - . '
' 4.15.7t0 | Tow e R e
! Lt . . . , .. .
.-\;A ‘ ’
4“ ..
» 4 g
e w ¥ .
’ - - ‘ S . E . ' ) - - N
" | 7! '-‘1.5 : ! .
. P 0
r‘t“'“‘ ™ ‘
I.‘ * r \“‘ .‘ ’
;




. . .
l‘ What parts of plants afd ammals produce sperm" * - ’ WYY

2. What does a sperm do" a | -~ 01-Core-1A
V . -~ N 2 -4% '- . ' °
£ . For many organisms; producipg,offspring involves eggs and sperm. . . L __~_:~__T\'NYY
1. What is the source of an egg’ . -\ . : ~ 01-Core-2A .
R 2. What isthe functiorr of the egg? C ' ‘ S : .
— S - ~ . : m— 7 A
- State wha} happens to sperm during the matihg of animals. .ot - e . WYY
. . s ' . . . ’ P ! .\ 01cc°m‘3A
Gzt an ctherizer, some ctlu,r and vml'WYY 01-Core-4 from the supply area. ‘ljltherizc - wyy -
thc frunt flies.in the. vml qHavc your teacher check the. etheriud fruitflies. 01-Core-4A .
: . - . :
Get vial WY Y-01-Core-5, two empty capped vials, an ctherizer, and some ether from ' WYY~
the supply area. Do not remove any flies from tife vigl yét. Etherize>all-the: flies. ”01‘Co_re_-5A
Shake the vial gently. -Remove the flies from the vial> Put the dead fliés and the L
etherized flies” into separate vials. Cap the vials, and label each as containing dead-or .
etherized flies. Have your tcauhcr LhCLk your work.. Return all the flies to the vial _.
” wyou got thcm tronl o - N S
\ G'e( an etherizer, two clﬁy.vials’ with caps, some cther, and vial WYY-01-Core-6 froni « . wYy
Tl .-th& supply area. Etherize the fruit flies. Separate the male fliesfrom the female 01-Core-6A
' flie, and put them into separate vials. Cap the vials, and label cachoas containing ’ :
u male or female flics. Have'your teacher check your work. Return all the flies to the .
o original vial. . _ ) : . :
State the steps you would follow to obtain virgin tcmalc fruit flies lrom a vial con- 4 WYy
» taining nonadplt and adult fruit flies. . . - 01-Core-7A
. -
o Give an operational definition of the term pure strain. . : : , ' WYY
e 01-Core-8A
- —7— — . — ‘
_ List the stages in the life cycle-of a fruit fly. ,--" _ ' . ' SR WYy
» . . e _ ; : : _ ' 01-CoreBA
) I 4 . » A -
\ i : ¥ . — e
e - Get'Jar WYY-01-Core=10 and a hand lens from the suphW,urun. Point out to your,,./ . - _WY_Y '
- ) teacher ;llc.cgg; the larva, the pupd, and the adult stagesin thejar. -~ 5.0 A ~01-Core-10A "~
" What appearance would be possible for first- gencrdﬁon oftspring of a cross between | WYY .
fruit flies that are pure strain for yellow bodices ‘and fruit ﬂwx that Are pure strain® 01 Cowt'l1A
for black bodies? . ) ' )
' ‘ * \ — ¢ -
A & , ) ‘ X . . . ‘
L7 . . - : : . . ; * ) '4‘ ‘ ]
- ‘. + ‘ N




WYY

01-Core-12A.

’ : - ¢ O . -
. i

- John studied some flowering plants which have many. different $eatures that show
" variation. Why would John study the inheritance of only one feature, such as seed

color, if one experintent although the plants inherit many features at one time?

wyy :
01-Core-13A

Andy . fad two pure strains of beans. One strain had plain seeds, and the other stmin
had spotted sceds.  He crogséd the strains.to get the first-generation offspring. Than
he crossed the firdigeneration offspring to/get the second-generation offspring. Se-
lect the answers below that agree with the results he would get. . .
1. The first-generation offspring seeds . S A
a. were all the same. ’ . - B
b. were a mixture of plain secqs-adyd qpot}cd sccds . N '
2. The second-generation ottsprl sceds | o ' '

S

a. were all the same. .
. - . b.werea mixture of plain seeds and spotted sueds
WYy ° Joe crossed two pure-stram bean plants: One had amttud seeds, and the other had :':
01-Core-14A plain brown seeds. *He crossed the fivst-generation offspring with each other. Pr ST
o ‘ dict the most likely ratio of variations of seed spots he will get in the secand- '
. generation oﬂsprmg. E : e
o oL
wYyy . Tell your teacher that you are about to do this Lht,l,k
0]-Cdi;es15A , In. the supply area, you. will find a box of beans labeled WY Y-01-Core- IS Qurckly
S und'accurut,cly, cstimatc't-hc' ratio of brown beans to white beans in the box. =~ .
WYY Get vial A from box WYY-01-Core-16 in tlu supply area. Exuminc the beans care-
e 01-Core-16A fully. Are they pure-strain beans? .

‘WYY The table below refers to the ottqprmg produced by mating two pea plants, both of
01-Core-17A which had yellow seeds. . L N _

___________________________ S ' ' .

(-l NERATION | Sl l~l) COLOR

' Parents’ . yullow
[ st-generation yellow - ‘ } L o7
oftspring !
2nd-generation ycllow
._ oftspring ,

3

[. According to the IS( S two-bit modcl is this variety of pea pure strain for
sced color?
2. Explain your answer.

S “. —
‘ \
» 4
. .
4 [
- ~‘-".-“
-
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NOTES TO THE STUDENT

.

Now that you have u,)mplbtul several Lhdptt,rs excursions, drd sclf-evaluations, you’
are ready to help.your teacher determine how well you are doing. The performance «
checks in this book will ‘provide your teacher with' this information. Then your
teacher can help you wuth things you may not understand and can kup arecord o
of your progress.

. !

~

Read the next séetion carcfully. It explains some important things about the per--
formance LhCL‘kS in this book. and it ;:.IVCS you specific suggestions for using them.

N N

*

»

What Ym;. Nccd To Know about Perfo‘rmance Checks '

k4

-

[ You do- perfonmnce checks whcn you are, rcady Per-
formance checks are somewhat like 'the qucstlons in the self=" .
cv.lln.ntlons you do thgm when you are rc.uly not whcn -
the Whole class is ready. . '

2. Your teacher or both of you decide how many you do

Your teacher or you and your teacher together will décide
which oney’ you shoulddo. You are not expected to do all |,

of the performance checks.

‘e 7
3. Thére are three forms for each performance check. Every
performance gheek is written in three forms A, B, and (.
(The title of this booklet tells'you whether it is Form A, B. or
¢.) Usually the answers for cach torm are different. When
you do a check. you will use only one form. The A, B, and €
forms are always in different booklets. Within cach booklet
all the performance objectives for the same unit are. listed
together. A unit contaims two'or three chapters and thcn re-
lated excursions.  These units are in numcrical order. Each
unit has pcllornmmc checks based on core material and per-
formance checks. based on excursions.

4. Each performance check lias its-own numl)er The number
is in the *outside margin of the pagﬂc and will look like ‘lhlS

1V-03-Core-17A or WY Y-02-L:xc 4-2-2A, These nunibers thean T
IV-03-Core - 17 A and WYX -02 - l_Z“ 4-2 .2 A
ineg) — [¢'] (@] -
= § 38 5 ¢ o S 37 % S o
> = E. 7 " . > =, R o o) ey g
ay - i~ ol o 3. A s o
) B 2 4. 59 & B0
£ o S & o
- o 3 = 2 = 32 7

»

! a g o 2 § g o
. : -~ o o 3 -
. (4 2 (@ [¢]
o] 0 [¢') (g)
ox 5 - =

2 e

e




S. Each performance check is separated from' the other

. There is a line before each performance check and one: ‘after

_it. Some perfmrmance checks have several- -parts, so do every-

thmg called for, betwcen the lines. If there.is no line at the

bottom of a pa;:e the check is contmued onto the next page.

6. Sometimes you will need to use :equipment. If special

. mdtenals are needed, they‘will besin ‘boxesdabeled with the

- same number and sometimes the same letter tog -as the pet—
formance check for which you need-them.. . -

.o 1. Some performance checks have two or mese- answers. If -

rcct ehones In sich cascs, selectmg just' orfe answer is not
Lnough “ Coe ' ,

- 8. Some Derformance checks have no answérs.. Oceasxonally,

_more than one answer is “correct, you must T{:eet all the cor-

you.may ‘be asked to ‘do somethmg that is* impossible and to

-explain your ‘answer. . If S0, say that the task ls*lmpossxble
*and explam why. B :

. e A «

This,isnit the kind 6f
checkbook you write in,

9. You share books of performance checks and YOU DO
NOT WRITE IN THEM. Write your answers on other paper.
lec the number and form of the performance check for each

answer you ‘write. If you are to draw a graply, a chart; or a
mapsyour teachermay provide you with grid paper or a uopy
of'the map or chart.

10." Your teacher or-his asslstzmt will -collect and mark your -
checks. And sometimes you must ask him to watch or assist
you as you do a check. a N _

1. Sometimes a review procedure will be suggested. It you
can’t do.a performané,e check: you may be asked to review
a part of the text or a sclf:evaluation question. . You may
then be chedked on the same material, so be suregyou under- -
stand the material you review. Get -help, if -you need it.

¥ : &
)

‘
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) . L . . . .
What is the mode error for the time sense of these students? -Show your calculations. -

,
Tim put-85 beans into a glass jar. He -asked:ten different people to estimate how- v
many beans were in the jar. Their estimates are shown below. . - 02-Core-18A .

. " . - - . . t.' ) . . Lo
NAME ESTIMATE “
Gary .| ~105 - |° '
* Helen WEE T 3
“Karen 93 '
" | Brian s | \ . . :
Refth . 69 - _ o
Ralph 95 . o C/ -
| Carol 80 - . ‘ S N
Gerry ' 73 A
Pat 120 , |
Richard 88 S
’ \ : : . ) vt
What is the mean error of these estimates? Show your calculations.,”
You had several people estimate when one minute had passed. You then calculated 5 v
the mean error of their estimates. Why is the mean error of measurements calculated? g 02-Core-19A

" Harry tested several students to sce how accurately they could estimate when 15 *_ v . *

seconds had passed. His data are shown below. ' 02-Core-20A -
’ — L e Y . s . o *
STUBENT ESTIMATED TIME
Do (in seconds) '
Jim 12 .
Susan 14 ' ' ..
. . N ' . & ‘L “-: . ‘.
- Nancy / 9 S
i ~Frank 21
’ ’ L . , -
Caro 13 t,
Johh 18 . ‘
v
Sally 17 . =
Mary -~ 12 _
Wes 16 @
George 15 .

g :

. v .

¥




. lV *_ ) In much research about - , the’ researchers measure patterns and Slmllal‘ltles
02 Core~21A - within groups. -‘Why gf¢ many researchers moreueoncerned about slmnlantles than
. about mdmdual dlfferences" o , S
IV - s bllbert ealeulated the mean age of a he studentsm his eldss to be l4 years 4 mgnths P
~ 02-Core-22A -~ Rosalee is one- of the stude\ts in-his class. - MRS
. ' - 1. Usirig only the above: mformatlon can'you determme Rosale s age to the _
N nearest month" o ) _ N
o 2. prlqm your answer. | ' '
W L Mrs Hill tested her students readmg speed She tted a h_is(o'gra'rh of the de;ta‘_-';,- .
v S 02.gxc 3_1.1A COIIeLtLd ,‘ . \' ‘.‘. »; | -Ar._ ‘._.' Lo : ‘ ) R - )
_ - . - . 1. List the letters of the points m the hlstogrd that she should mse to change N
' ? the hlstogrdm to a line graph. - . R NI IR
2. What are these points called? . T '
vy ’
. _ 14
2
i Z 12.
. - W ..
. o
| S .10
o : 5
* ' L(S- 8
» : o« 6
g.
=
> bd 2
\' 'Y : . - .
50-74 75-99 100-_'124 125-149 150-174 175-199 200-224
N R a . READING SPEED (in words per minute)
v - Use a protracter to measure the size of the two dngles below Record your answers
% 02-Exc 4-1-1A _ona sepurute paper. : : -
> v
: ¢ AngleZ o "_ o "
\ -




. Henry meaSured thc: helght of al the students in hls class, HlS measurements in
' - inchés are shown below . L S S
L1159 A3 .58 " 61 71" 58 59 63 70 60 o
© 62 60 58 6% 62-84 61 .63 54 67 . |

55 "6l 64* 62 68 57 60 59 58 61" T o

Constr,uct a table lﬂ(e the one below and group Henry sgdata xzf ths.,

' 02-Core-10A

 ["FIFTH|LIMITS OF RANGf, NUMBEROF | *© ® SRS |
= | FOR THAT FIETH | INDIVIDGALE| L . S
_' .. F = }m i’;—: ‘.‘-' ' . IL g o ) o B . t\-l'.' s !
_"r'lll.-. 1 '-1-' . e |‘ w R L ., \ =, A .
:) T ot T ] T \..-A‘v. P A . "o !
‘“' ' - ) \ . '
. : 3 L. ’ “( 0 )
" .
5
: : J :
Scientists will often do an experiment, collect some data, and draw a conclusron v
from their data. Then they will repeat the experiment, eolleetmg even more ddtd 02-Core-11A .
Why are experlments often repeated many times? . '
You made thrw ‘measurements of each studént $ perrpheral vision. and averaged the - v

‘measurements.
. of making only one measurement?

5

Why did you make- three measurements and average them instead

02-Core-12A

The students of Bell Junior High School were selling pizzas to raise money forthe -
“school band. Cindy was in charge of keeping the records for her team. The number

of pizzas each student sold is shown below.
I..4s the number of pizzas Hargid sold

1\
02-Core-13A

~

* above or below the mean for the'whole STUDENT | NUMBER OF
" oclass? T, PIZZAS SOLD
2 How far-above or below the mean is it? Harold ]
Jim 4
B Bert 9
Kare 0
Lloyd 23
; Hank 2 ,
- | : ’ Normd 0
* - | Dennis T
e ST Ted 5
Rick Sge
42 -




! W

Jamce had a pair of white mice that occasxonally produced offspring. She kept track

02- Core-14A . of th.e number ‘of baby mice in each litter. Her data are shown below.
: . S :
LITTER 'NUMBERVOF _
h ‘NUMBER | BABY MICE _
T 4 | .
.—) 4 L Q e ' .
3 . 3 .
6 .
. , R
4 ,f v 8 e -
] [ 4
.5 3 N
. ’ ) () () -~ ( .
Total | 30
| Mean B
How is it possxblc for the mean lltter size to be 5 dlthough there was no htter w1th
” 5 mlce init? . S |
AV Your text states that “Pérhaps the best example of an average [normal]- person is.
02-Core-15A- someone whosc eharacteristics are not dVCl‘dgé Explain what is meant by this
' statement. : : C o
, , _ B - .
Vv Df, Jansen measured a certain worm. He found. that it was S cni long. -
02-Core-16A I. Based only ‘'on the data above, is it possible to detérmine if the worm is °
_ ldl‘g(, medium, or small? \ »
o 2. Explain the reason for your answer. . ° S Co .
I3 y > T - . - - R ' N — j .
WV . Van tested several students for touch sensitivity. He_also tested. their ability to . .
02-Core-17A Jlocate objects by hearing.’ Durmg, these tests, the students were told to keep their

eyes closed.
l Was"%4. necessary for them to keep thelr eyes closed dunng the tests"
2. Explain your answer.’




State whether each of the pa_ifs of words below represents a'cohtinupus or an either-

Y

shoyvr_\-_below.

-«

| STUDENT | NUMBER OF { .STUDENT NUMBER QF
| " | PUSH-UPS - PUSH-UPS
| Fred." ' ' 6 - Oscar 15
' "C_ha.r:l’ie 2 " Tom 7
- Doug\ _ 12 Roger g - 4
Henry 3 Jim 1 23,
"l_"lim' 9 Cafl - | © 18

What is the range of his measurements?

N

or variable. = i ‘ | 02-Core-1A~
- 1. Tall or short ‘o i . / -
" 2. Alive or dead e ' ST _
3. Dark or light= C . r .
- 4. Skinny or fat . -
_ _"Will-’s' data have a very wide range. WAat is an operatiorfal definition f_(_)f the term ) _ - v - ‘-
range asit is used 4n that sentence? ' to ' ' 02-Core-2A
. Bill measured-the number of push-ups the boys in his class could do. His data are v .

I3

02-Core-3A°

Give an operational definitioh for the mean of a set of measurements. -
R ) . ) : ° o f "_

¥

N
.02-Core-4A .

-

o

25

~ Tom measured how long it took each of the boys in his class to run 100 meters. His S L =
data are shown below. N S ~ 02-Core-6A
STUDENT | TIME (in sec)
Henry 15 »
Pierre 13
Roger 16 ; T
Rich 14
Chris 14. - )
| Bill 19, ~
Fred- 13° . S '
Mario 17 ; ' o
Calculate the mean of his measurements to the nearest \'Nho.l'e number. .



S
. 02-Core-6A

AV

. /.'

-

A Whét is meant by the mode of a set of Sneasurements?

+ Barbara asked her classmates to keep track of thc number of hours of telev1s1on they .

Tt

02-Core-7A - ‘watched in a week: Her data are shown below e
;-, : - ’.' ! .. .
STUDENT TIME _ STUDEN"I[" TIME 4 -
- ' i hours) -v .| (in hours) |
. Nick - Y}~ 2 Jeat ]
‘ _Wéndy : 7 .|| Doug 6
Joyes L, 5 | ?hella_l 5 A -
. - Bob - . 0 Mike - 23 :
7 o . 2 I o : ) al e
' ; Henry — f -6 Brucd - 1l '
. 3 “ . J .
N | .F"‘mlc_u 8 | (.art_h_y. 3 |
* What is the mode of this set of 1heasuféﬁh? ‘
v . Hank measured the welght of cach student in hls clasq
. 02-Core-8A elow. '
e .
WEIGHT NUMBER OF
» (in pounds) | STUDENTS
, N . —
80-89 4
o o 90-99 0 .
Y A .' 100-109 9 , .
o |y
136-130 | oo
- ] 1404149 12 %
_ . . Geta plecc ofgmph papsrAfom your teacher. On it, construct a histogram of Hank’s
' ’ ddtd- . ’
AV l ) Why are data often arranged in lustograms or m othcr kmds of gmph&"
02-Core-9A, e e
¢ - o e e
- 4 ) - ‘.. e L .. "¢ :\
o * - ‘ ‘ v ES
o &8




Quppose someone, made the statement that glr]s are more likely to be letthdnded : R S

tha n boys

- . Could you use Salty’s dada totell if the statement is eorreet" '
. ¢ ‘ AR

2B xpldm your answer. .

*

/ : : . - ok - .‘ . g .
Round off the fellowing measurements to the nearest whole number - ‘. v }
. S 42em, Y A A OFExe2-12A: -
L 2sedeem e T Tm T Ty &
’ L3.2919%em o ' .
S 4.359.5em' 7 T TERE e - , D ' e
« g N . DT s e et
S ALY 6. ()un N - . ‘- o W )
; . . . ' ;— " i = T : —— : — H
P Sally measured tlre handedness ofteach ofher classmates. She separated the‘fesults for voo v N
the boys and girls. Hg dat.l are shown belOw ! { ~ - O0%Exe _2-2-1A T
. o .. . + . M. o l':; - -
. -1 _“ ' . . .;..,,\,-':' . . . A'_ro.‘ \ 5 -‘
A e R . HANDEDNESS ' ; ) S ; ‘“ .
ot T VLMY RH [ Totals | oA . o0 T "
v o S FRoys, - [ [0 T e .
N ‘B ' : : ' ' N
‘ .. . 'Totulsl" |7 22 29 | | 2 |

£

Suppose SOMeone - elsc said that. hoys are more llkely to be nght—eyed than glrls, oo

. Could you use Sally’s data, to tell 1t thls sttltement s eorreet’

4 .

+
: 4 Explain your answer. ’ .
B .
o :A. . .
3, 5 i 2 w? RN
ce R . ) A - ,M’ . ’ L. o Bl
- . . ot - .
< . " ' \ \a d
. L RY; ',
T » ) R +r " \ Ty
' . : . . . - — “\
. « .
) . i 7 . L. " ° L ',,“ \ .
.. . | . e
. B " .
~ .. . . . . . . ;
- . ']
8 t r 'c -
’
., t
. ) v .o
- ' _ . . S ;
’
"
.
- - . \ . . -
’ LR ¢ [ , ¢ M
PO .
o
4 . . ’
' . . N
. .
. . v L od ‘\ * E3
. .o o \ :
M !
-~ e © .
. N '3
L I - . .
. N ¢ .
- N )
- . e, »
. . -
- ) . 4
\ s ; ,
. N ,«/ B v L | o
. Y . . . r ‘ 1] i , . N . ~y
\ . . X . o . ' . * P . v S
) RS \ 4 . . " IR .
) ' : ¢ ey e ' . ‘ A e
L e . ’ .
o - { :1 4 " 7 e . . i L , ]
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Charlcs wanted to dctcrnnne»how many studmts in his class had dnvu s licenses and.
" how many dld not. ( onstruct « table for Lollu,tmg angl .malymng hlh nwasurenknts '

— L.__ et

. - T 0 T

" “Heather wanted' to measure the number of words 3 persary can read in one mmutc ,
’Shc had all her classmates begin reading the same %tory at the same time. After they

had read .tor one mmutc she told ther to stop. , Her data are shown in the table
below. Construct another table of all her reading smul measurements from which
i Heather will b able to construck a histogram. Note:
~the table, not to cniu tht data in the table.)
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'STUDENT | NUMBER OF SlUDlNT NUMBM{OF_
1 - - WORDS READ | WORDS READ
Jacke ) . 170 || Jake 320
; Judy © 120 Johw .| - 310
'J'z'nsonl‘ ' 250 Jilll"lk‘( B 140 “'
. J(“)("ly' ’70 Jean "’":, 190
o Jil) 1’8 N aeery L 190
\‘ Joan 195 . Joy’ 20 .
‘ Jan . 84 Jane | 200 o
oo | e im0 20 T

.t

“You need only to construct -

R\
- 01-Core-15A

C e ‘v

Faye wants to LlL‘f@ﬂl]N]L‘ i there is any l‘L‘LI(I()ll\hlp between whether a $gdent is

right-cyed or left-cyed and whether he sits on lhc ng,ht -hand-og lef't- lmmlﬂc\ol the
‘cldsqrgom Construct a table for Lollu(mg .lml dnaly/mg mmwuwn‘\cnh to find out
if thesevariables are related. 0 . . . AR ¢
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~Joycee wants to find out whc(lm H lclallonslnp cxlw, hctwccn A pcrmn s having a,

Adriver's license and his grades in. sehool.

(,,ons(ruu O (‘l|)|L‘ for u)llcumg these

01-Core-17A

measurements. BN . . /‘; L B
— EIGE T - — ™
Your teacher widl observe you for this check.when he can. v
o o ' . 01-Core-18A
- 2 - N e .
-t o ' Y RS j » ' ’ N/
Your (c‘uchc} will abserveyyoi tor this check when-he cane W
, Lo . N : v T:' . 01'C0f9'19A
e .:'j.k et . A f . T . - ﬁ' - - - -
Your teag will observe you for thig eheck when he can. - o 3 : R \"/
Co - R \ : ' 7 + 01-Core:-20A
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\Y; Lo Your teacher will obsérve you for this check when he can. - . e

. .01-Cora-21A" v . . . .
A s - - x
. . i .\L . . . . L 2 .
v . Your tcac,hcr will obscrvc you for thls thtk when he can, ~ - SR . .
01‘C0re'22A —_— w_r, s 'l,. ~ . ) S _A S ‘ . .
v | , ) Suppose you measyred the length ot the school’s footbdl‘l t1¢|d (IQO ydrds)
01-Exc 1-1-1A - in- metric. urlylts Which of the medsurcmcnts given bélow would be Llosest to
T . .. your measurement? b . :
» . “a. 9.1 em do%lm ' . _
' . b9m e 9lem - S
¢. 91 mm £.910m " ) L c
Supposc you measured thc thickness of your lSCS textbook in metm e
. : umts Wlmh ot. the mwsuremcnts given below would bc closest to your B
) S . mcasurgmunt” _ ‘ . - o
. : . a. 70 mm d.7 111111 o '
: +b.7Tm ¢.0.7mm ‘ ‘ * '
‘ S : ¢. 700 m f. 7 cm o S K
v . What is the distance between A and B in millimeters?
01-Exc 1-1-:2A" - - . 2. What is the distance between B and C in gentimeters? _ .
1 e
v A A i . ‘. . . :\ .
“ »
. © : '{ .
.‘g) iv Y‘_J i u““'i":r' .
IV ' Art measured the width of a board as 20.45 cm. + Peggy ‘measuied the samg board
01 Exc 1-1 3A ' with-the same measuring device and reported it to ‘be 20. 42' oni wide, What is the, L e
, most hkely reason, for the difference in thelr measuremcnts e A
. ] . o "'I B — . \
v , C aluulatc the avcrdge of the l‘ollowmg measurements to one dcumal plage. .
- 01-Exc 2-1-1A . 2.60em v , S
, 4.9 ¢m - o ' L
9.2 ¢ . to .
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‘Below are two defmnt ns of ways.in which people dnffcr Sfudyﬁthese definitipns, -+ = . AV

and answer the two questions that follow.- o e . 01 Core-1A

Pefinition CH A person 's treasute- jinding lydex is lus ablhty to ﬁnd valuablg objects‘, SV &

which have been buried. - L, N

Definition b: A student’s sprint mdex is a moeasure ot‘ how rapidly he: can rui for T S

short distances. [t is measured by tlmm& hew long 1t takes the student tor run 100 ’ '

meters on a cinder (rack. : N PO . S o _
EE ~ : ¥ , ot L Yoot
a 1. Which of,»thp above is an (')perational‘definitiort? : [ YL .
' 2. Explain the reason for yaur answer. s ' o g
! et o . v "

" Whenever possible, an operational qsfmntlo;\ should answer two quesnons What are, > . LWV B
the questions. that it should answer? N - e ~ .01-Core-2A
Ve ) o '_, . _ e ‘T I . . e —— )

. Perhaps you lldve hcard peoplc make statements such as “All students wnth long hair : v : *

‘are just alike.” : - .o . S - - 01-Core-3A

1. Canastatequt like this ever be true? . S R
. Explal'n the reasons for your answet, B - ' cror

Scigntists spcnd a grcat deal ot time lookmg for pattcrns in the way things change o v

Why? S : L 01-Core-4A

.People differ in thelr ablhty to gee ¢ diftcrcnt sized letters on an eye chart from several v
feet away. Thc ability to see is called vision. Write an operational definition of ~ 01-Core-5A

Ve . vision. : _ . : _
PR .o [ , - . ¢

Suppose you wanted to Lomparc the ability of different students in your class to ‘ . WV

play the guitar. From the choucs below, select the: bcst way of measuring guitar- . 01-Core-6A
playmg ability. ‘

a. Ask each person how well he can play the guitar.
* b. Ask cach person how many guitar lessons he has had.
¢. Ask each person to play the sdmc unfamiliar songs, aftl-count the number -
of mistakes cach makes. :
d. Ask cach person to play the guitar, and judge how well each does. ,
¢. Ask a student who knows all of the guitar players well to tell you who is )
the best playu , : -

When scientists want to compare different things, t’hey usually try to use an appro- s IV
priate measuring device, such as a ruler or a test. State a reason why it is important 01-Core-7A
to use a measunng deylw when one is avallable rathu than just relying ‘on your own S

senscs. ¢ v
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-Dma was measunng readtlcm tlme, usmg thc droppmg-meterstlck method. She: found
that Jack had a much shorter reaction:time than anyone else. She also noticed that”
Jack watched her-hand release. sthe meterstlck All the other students had watched
' their own fingers ‘'with which they caught the meterstick. Dina conclyded ghat astu-'
dent’s reaction time, as measured by the dropping-meterstick method, is shorter when
the student’ wqfches the release of the meterstick .than’ when he watches the catch
“point, Descnbe an activity whnch you could pertorm to test thls 1dea>\
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“What (_locs"'u scientist mean: when he says that a i‘egf’uré shows continuous variation? ~
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" What do we mean wlien we say that a feature shows an.either-or variation?
"y Y . . . v

Y
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© 01Core-11A

- ldentliy cach of ‘the vanables below exther as a contmu,ous vanable or as an erther-or

- variable. : ‘ T " c S
< " 1. Whether a student has ever seen ihe ocean . © e
0L 2. How fast a secretary can type’ i ' '
3, The length of a boy’s hair S
. 4.1ta man js a péliceman or ,not o )

oS, A purson 's age

¢ ¢ -
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“shown below.

Fred measured the huz,hts of- thc studcnts in hxs cldss Hns measurements in cm. are,

Fred - 162, " Hank - 180- Miry ~ 173
‘Henry - 170. Bruce «.152. Louise —-162
Charles,_ - 143 Wendy - 162 CJim - 178 . -
Isabel = 150 Greg *167 . . [~ = Stephinie - 167
Sally - 147 Brian - 153 o0 Wayne — 165
© Betty - 140 Nadine - 153 v Janice — 140 .

Draw a table similar to the one shown below, and use Fred S mwsuremcnts to
complutc tlu, table. . .

HEIGHT (in cm)| TALLY | TOTAL
ol 130140 .

147154
1554162
6370- v | . *
171-178 |
179-186

-~
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" 01-Core-13A

State two reasons tha/t scientists usually arrange their data in charts, tables, or graphs.
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. Get from your teaeher a copy of the.chart below:or paper to traceit.. L v CTOWYY

In some insects, inheritance of bristle length depends.on the sex of the msect ‘ln e . 03:-Exc 7-2-1A =
~the males, short bristles are dominant over long bristles. In’ the temales, long o
bristles are dominant over short bristles. Indicate on your ‘chart a possxble pair of " - T

‘bits carried by each of the mseets Use the letter B to- represent the bit for long- SR .
s ".\-“A . P She "...‘\'ﬁA"-- - _.“
bristles and b tor shoft bnstles _— S S T T T
- ’ ‘ . . ."‘ |
. } f . . '('.' . ’ [ O] o~ - .‘Ln’-.’ -
NS P [ Male with = |- R
! C— — —_— long bristles . - | -
) . Male with I _ .‘
.“ e N short bristles . Y |
—_— Female with L m -
1 ‘long bristles - o :
Female with - o
| _ +{short bristles - e
@ - e L
e : SR o : ) | Places for Sty
" " | " . = bit symbols” . | ' .
N LI A '
< A
\ . ) ' 2. -
’ ¢ + ' " ]
A King Henry VIII divorced sevcral wived beeause they bore him only daughters H® S+, WYY
wanted a son {o be the nextruler. : 03-Exc 7-31A;
I. Was his. reasomng, logical when he blamed his w1vcs for produung only s
" daughters”? . : o _
2. Explain your answer. ' L S : , . ’
v : A '
’ .
)’ .. ) W . ¢ “ ’ ‘ : .
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C T 0™ PARENTS T 1 o S
l AN . i o . /) . . , . . V
L - . APPEARANCE APPEARANCE S -
R A NP . Yellow body Normal body o e
e " FIRST. GENERATION .
Lo T OFFSPRING ' .
) . ~r . ) .h'(
‘ S . . - Y : . ‘..‘ N ‘ "
. <. .o ) — — o L R .
e S T ", APPEARANCE . | APPEARANCE .
< . 2% . .o . . . ) bRy " . . R e 7 ’
SECOND GENERATION B e
OFFSPRING s , N
+  .APPEARANCE  APPEARANCE ' ‘APPEARANCE -  APPEARANCE
T WYY _ ' Lafry and Harry are identical twins. Like all tdentlull twins, they mhcrlted exactly.
03-Exc 7-5-1A _the same genetic matcrlal from their parents. But Larry -and Harry. do not look s
- cxadly alike as adults.” Explain what might cause these dlffcrcnws
WY'Y. . . Supposc you released one hundrcd green lizards and one hundred black hzgrds ona:
03-Exc 7-6-1A . 7 certain rocky island a year agd. There is not much vegetation on the island because’
o C it is mostly new, black volcanic rock. Omc in a while, the lsland is.visited by bll’dS
Cotwme which eyy lizards. - :
: . Would you predict thdl there are more of one kind of lizard thdn thc other
. s * . living on the island now? - N @

." . © e L . . Lo . ¢

iy

) WYY . “Get-a copy of the chart Iabeled WYY 03-Exc “7-4-1 from your teacher You may use. .
e 03-§xc 741A. . Excursion7- 410 ]1eig you.answer this check.  In fruit flies, the X chromosome carries

. ~ the bit for the recessive variation yellow body color (XY). The Y chiomosome
_— * carfies no mtormatlon for this feature. . The gppearance of and bits-for the parents

o .. ..are.given In theé chart below. You are to predict the appearance of and the bits (XY,
S0 X and’ Y) that will be carried by.the first- and second-generation offspririg of the - -
I .~ cross by filling in the blanks on your copy of .the chart. Remember that X" repre- o

sen ts ‘the normal traxt

- .
LA

o Y2 bxplam your answer,

v - - >

SR . ——

wWyy - & - The people in a certam trlbc in East Africae think it is bcautnul to have very long,

03-Exc 7-7-1A .. carlobes. To make théir earlobes longer, they hang weights on_ thelr earlobes to
. stretch them. Supposc they did this for hundreds of years. ’

1. Do you,.thmk their duldren would ‘be born with bits of information. for
longer carlobes?

2. Explain your.answer. - - S : ,?
’ s 3 “ . L " .‘-"1.
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“ Use your -proiruc_t}')r to construct

label cach of them.

angles of 25° uﬁd 108° on your answer sl

AN

heet, z_m(_l.
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~ 02-Exc 41-2A

o
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-Animals with different characteristics often live in different areas, eat different food,.
and have different enemies. The chart below shows some of the differences between
_two kinds of animals.

| W
(02:Exc 42-1A.

re
Nl

[T

¢

| CHARACTERISTICS | ‘ANIMAL A ANIMAL B »
Type of animal large, hooved "lzlrgc bird - 4
o ' animal ., g .
tLivingJ;rcu , opén, flat "nests on mountain”..
' o ) plains ledges.
Main food grasses .. . #%ihall animals ) "
Method of _ . gra-}.cs grass SWOOops down from T
. | feeding’ S - " “the sky at high speed
Enemies, -5 . s large members -] niall
| Mof thecate . |7~ _
o e ¢ | family . .
LR i [ - —_—— L -
:'l. Would it be.advantageous for Animal A to. have its cycs,\iu__t_‘h_é'é;i'clcs
head -or in thé front of its hegd? o o . »
7 2.8tate the reason for your answer? *- '_*-“‘“! o .
3. Would it be advantageous for animal B to have itsceyes ine the sides of its
head or-in the front of its head? ) B
, - 4. State the reason for your answer.
When you classificd y(i'iir' fingerprints, using the standard prints shown b‘clow,.rf‘y.mi' ' - IV )
probably noticed that your fingerprints were not exactly the saine as any of“the 02-Exc 4-3-1A~
standard prints.  Why didn't your fingerprints match any of the sample prints? e
" . . . . ' 1 _'1..
Y TR
HUR
. ' \ \
* Plain éfcﬁ | (T\ented arch’ Loop Pfain whorl
’7\ ' .m
i
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S SRS 1Y “ .




v

'Rcscardwrs uqually mcdsure the Lhdl'dCtﬁl'lStlLS of a populatlon by makmg méasure-
ments on only a sample of thc populatlon Why do thcy use a, sampfe r.,lther than

- measure the entire popuL\txon"

i
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02- Exc 5-1- 1A
L 4
w

. 02:Exc 5-1- 2

- L) L S
- .Which one of the curves below is a normal curve?

EETP

.

-‘Graph a.

NUMBER OF
INDIVIDUALS *

Graph c.

'NUMBER OF
INDIVIDUALS

WIDTH OF HAND

»

WIDTH OF HAND

b

Graph b.
‘."_.' m &
-
o X
3. ‘
(ol -
w = - )
o> 1.
25 ‘-
zZ Y 11
; ., WIDTH-OF HAND
- . « o 1
Grapt_\ d.’
W4 :
a:D
w1
o> A1 s
ga 4 N
- 2Z

\{VIDTI:l OF HAND

~lvV )
. 02-Exc 5-1-3A

Suppose you' were going to measure a continuous. human variable such as height. -
" You-would select a random sample of people, measure their. heights, and draw a

graph of the n,sults Wluch of the graphs below would you expect your graph to

look. hkc

‘N

. Graph a. - Graph.b.
v/ ' s = -~ n F ,
u, ‘-_’} 3 = w g - , N
. og og '
~ PLI:Sv- &J:Q N
- —
- . mZ _4 m> R AT
39 ' 2g N
Zz< dl ] %g 1T
[y i . o % — — 3 = -
. INCR_EASING 'I_-IEIGHT v INCREASING HEIGHT
Graph c. Graph d. -
2 : w8
5 o<
s 2 « 2
w w o .
g 2 al | g 2 - ;
=0 DO 4 /(h'
¢ 2z [ zZ _1
| INCREAS!NG HEIGHT ' iNCBEASlNG HEIGHT
Y : J6 .




'
‘e

O
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Whut is the purpose ofa ramlom s‘umplc _ .

N } v
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. What is, “meant. by ramlom sampla’ - . |
-y . " P2-Exc 5-1-4A
_— iR ' )
Rescarchers oltcn spend a greal’ deal of time and moncy getting a fandoni sample. v

PRTEA

Sally w.,mtcd fo* dctcrmmc how many library books lhc average student in her scho@l '
She -couldn’t ask everyone:in the xuhool 50 she decided to sclcot.

read cach month.
a sample.  She stood in the library and asked the first 25 students who Wdlkcd in
how many h()okx they had read (lurmg, the Id\l month. o

=1 Was 'her sample a random sample? o

V.

02:Exc 5-1-6A ..

.
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2. Lixplain your answer. ;
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